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7KLV ZRUN ZDV VXSSRUWHG E\ WKH 6FLHQFH DQG 7HFKQRORJ\ )RXQGDWLRQ RI WKH 1DWLRQDO 'HIHQFH

.H\ /DERUDWRU\ RI 3URSHOODQW DQG ([SORVLYH FRPEXVWLRQ RI &KLQD�

5HIHUHQFHV

� 1� (LVHQUHLFK DQG $� 3IHLO� 7KHUPRFKLP� $FWD� �� ������ ���
� 1� (LVHQUHLFK� 'RFWRUDWH GLVVHUWDWLRQ� 7HFKQLFDO 8QLYHUVLW\ RI 0XQLFK �����
� -� -� -XWLHU� <� +DUULVRQ� 6� 3UHPRQW DQG 5� (� 3UXGpKRPPH� -� $SSOLHG 3RO\PHU 6FLHQFH�

�� ������ �����
� 0� -� '� 3RZHOO� &RPSXW� -�� � ������ ����
� *� 0� 3KLOOLSV DQG 3� -� 7D\ORU� 7KHRU\ DQG $SSOLFDWLRQV RI 1XPHULFDO $QDO\VLV� $FDGHPLF

3UHVV� /RQGRQ DQG 1HZ <RUN ����� S� ��� ����
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